(D

30% Fr1 & Ty wETaE ARG YEYS/UEEEE & 999 8] WA 99

q3-11

fer® 13/11/2009 g 13 W Ui 150
feoqeft ; fret ©: el B IeR 2 ) @ty % HE SO ¥

90 1

T 2

R0 3

T30 4

W0 5

(%) TIE 9Ig Heered oA F4 §7 udE @ o yefee 9-R-%0 dF geegel o
WIS A F1 HiEE A a0 wW ) - 15

(@) T W Y A T o St A e g d | g v e e @
T 5@ | - 10

(F) TR Efeme SRAIFmEmamsT?-10

(@) wd ¥ 9oy W ® &= ver & fowme st @l & avia w8 1 - 15

(m)h&ﬁm—mﬁmmmﬁﬁa@mzﬂﬁﬁaﬁmwgﬁm%?- 15

(@) =i foet sfmnfaa 37 & =iwr & fdyw % fag ey @ we g, @ s
= WE w4 2 - 10

(%) aIfvifers TOR-YER 41 § 7 Sifvfgs JaR-ToR § U9 Wi s @ B a9
1 W den Yo g aes W w2 - 15

(@) 2 9 I8 ©F Ty ant g@ g @ ofe asie el @ gay °§ shE
forpmed € | Fedm dae § gUR ¥ AW wEE ¥ 1 -10

(%) 99 d o § e gu-gfhud eyl 8 ¥ ) R w9 Rem (SR-we)
T A E-YAUT WA w1 g9 abE w@ afadam 9gfe wH s *g e
o 7 W afuw @@ @ 2 - 15

(@) W H = @ WH-9E W agd v q@e & 9w # | adae § 2w
RYAl W OE-HEE H GUR 29 W g0 = I R R ¥ 1 - 10

N

Edit with WPS Office



(ii)

W0 6 (F) U HRA T i Fram & siwd, fedt w2 <5 W Ry w@ w st

q07

froaes & fafs=t = =1 svfa % 1 - 10

(@) Fmafafe fedt 99 w e oot g
(@ am-3

(i) gfawn fewe 2w - 3

(i) et i - 3

(iv) @& wdf &€ - 3

Vit -3

(Vi) FRgme ey - 3

(vil) 9% 93 -11 - 3 )

(a:)émamﬁﬁzﬁw%?@maméﬁh%m—ﬁ—mmg@nﬁwmhﬁ
Td 39 YUR ¥ 39 9T | - 10

(@) frfafes frdt o7 W dfea feooht fog

(i) = wlen frderor - 5

(i) Ife @ - 5

(ili) &t s =" - 5

(iv) fafay sma - 5

(V) 3O AF - 5

%0 8 (F) WA W W YA TR TABET F T 9@ WOW A @ S ooy g §

Ffus Rl O wee w1 gy g ¥ 1 ot frem @ ot § @ g
THAIE F FA-Y-FH T Al F1 o w, fored v w1 oguR g - 15

o7

Edit with WPS Office

(G



(iii)

(@) =R faam ey w W | IdiEae ® WY 95 fuE duE s
%l Bfd gurd & oy wH=iEl & @9 aifus sque e firersr @@ Ry w5
AT FEAE & Hey § o gEmE ¥ - 10

w0 9 Frafafea feedt ofe w dfaw ool fog

(i) @& = sfuseemr - 5

(ii) afew - 5

(iii) e & RegfE - s

(iv) mdt at - 5

(v) =¥t =¥ - 5

(vi) #frgfd /= (Indemnity bond)- s

(vii) %@ o = - 5 (viil) FRR AW - s

e v A e off yER Ft s % o v w o sineh g Wy e o

Edit with WPS Office



Question paper for selection of ACM/LDCE against 30% quota

Paper II
Date: 13/11/2009 Time allowed: 3 hours . Max. Marks-150
Answer any six questions. All questions carry equal marks.

Question 1) a) What are freight incentive schemes? Briefly describe at least three
important freight incentive schemes in vogue on Indian Railways. - 15
marks

b) Freight incentive schemes have not been effective in East Central Railway.
Give reasons why this is s0.-10

Question 2) a) What are the benefits derived from ticket-checking on a railway? -10

b) Describe the different types of ticke;—checking exercises conducted on
railways.-15

Question 3) a) What role does the IRCTC play in providing catering services on railways? -15

b) If you were asked to inspect a pantry car on run, what items would you
check? -10

Question 4) a) What is Commercial Publicity? What are the different schemes which
railways are implementing to generate revenues from Commercial
Publicity? -15 -

b) Bedrolls are an important passenger amenity on board, but there a lot of
complaints on bedroll seryvices. Give your views how bedroll services can
be improved.-10

Question 5) a) ‘Passenger Amenities’ is a major thrust area on railways today. While
providing passenger amenities at a large station (like Patna) what items
will you stress oPlo provide maximum passenger satisfaction? -15

7 :
b) Cleanliness anc$anitation is a key area of concern for railways. What

measures bave railways taken recently to improve cleanliness, both on
board apd at stations? -10

Question 6) a) Under,ﬁ’(;sent D &A Rules, what are the various
stages thraugh which a major penalty case passes from
initiation to {inal disposal? -10
byWrite brief notes on .any five of the following:
i) HOER - 3
i) Privilege Ticket Orders .-3
iii) Leave encashment -3 -
iv) RRB -3
v) PNM-3

vi) Supernumerary posts -3
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(ii)
vii) SF-11 -3
Quiestion 7} a) What is station outstanding ? State at least 4 main
items of station outstanding, and measures that can be
- taken to tackle them.-10
b) Write short notes on any three of the following:

i) Audit Inspections-5

ii) Error Sheets.-5

iii) C.R. Notes-5

iv ) Sundry Earnings-5

v) Cash safes-5

Guestion 8) a) Information Technology (IT) applications have

increased vastly on Indian Railways bringing about
more transparency and efficiency in the organisation.
Describe at least three of such T schemes in
Commercial working, that have brought about such

improvements.-15

b) Commercial Department interacts heavily with rail

users at the field level. What steps would you suggest
to bring about more courtesy and goodwill in staff to
improve the railways image?-10

Question 9) Write short notes on any five of the following:

i) Railway Claims Tpbunal -5
ii) Weighbridges

iiit) Diversion apfl re-booking -5
iv)  LPO-S

v) Model ;ations—S

vi) Indepnity Bond-5

vii) paface on Wheels-5
viii) ontainer Services-5
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